

ON INVARIANT SUBMANIFOLDS OF A GENERALIZED KENMOTSU MANIFOLD SATISFYING CERTAIN CONDITIONS

Srikantha N^{} and Venkatesha ^{**}*

Abstract

In this paper, we have studied invariant submanifolds of generalized Kenmotsu manifold satisfying conditions like $Q(\sigma, R) = 0$, $Q(S, \sigma) = 0$, $Q(S, \tilde{\nabla}\sigma) = 0$, $Q(S, \tilde{R} \cdot \sigma) = 0$ and $Q(g, \tilde{R} \cdot \sigma) = 0$. Also we have given an example to verify our results.

Mathematics Subject Classification: 53B25, 53C17, 53C40, 53C42, 53D10, 53C50.

Keywords: Generalized Kenmotsu manifolds, invariant submanifolds, totally geodesic.

1. INTRODUCTION

The theory on invariant submanifolds of contact manifold was introduced by Yano and Ishihara in [14]. Later the same authors in [15] obtained the condition for an invariant submanifold to be totally geodesic. In [9], Kowalczyk studied some subclass of semisymmetric manifolds in which a semi-Riemannian manifold satisfying $Q(S, \tilde{R}) = 0$, $Q(S, g) = 0$, where \tilde{R} , S are the curvature tensor and Ricci tensor respectively. In 2014, De and Majhi studied (see [4]) the invariant submanifolds of Kenmotsu manifold satisfying conditions $Q(\sigma, \tilde{R}) = 0$ and $Q(S, \sigma) = 0$. Hu and Wang [7] also studied Invariant submanifolds of trans-Sasakian manifold satisfying $Q(S, \tilde{\nabla}\sigma) = 0$, $Q(S, \tilde{R} \cdot \sigma) = 0$ and $Q(g, \tilde{R} \cdot \sigma) = 0$. In 1972, Kenmotsu [8] studied a class of almost contact Riemannian manifold. Later Turgut Vanli and Sari [11] introduced and studied generalized Kenmotsu manifold. And in 2014 [12], the same authors studied invariant submanifolds of generalized Kenmotsu manifold.

In this paper we study invariant submanifolds of generalized Kenmotsu manifold satisfying $Q(\sigma, \tilde{R}) = 0$, $Q(S, \sigma) = 0$, $Q(S, \tilde{\nabla}\sigma) = 0$, $Q(S, \tilde{R} \cdot \sigma) = 0$ and

* Department of Mathematics, Kuvempu University, Shankaraghatta – 577 451, Shivamogga, Karnataka, India. Email: srikantha087@gmail.com

** Corresponding Author, Department of Mathematics, Kuvempu University, Shankaraghatta – 577 451, Shivamogga, Karnataka, India. Email: vensmath@gmail.com.

$Q(g, \tilde{R} \cdot \sigma) = 0$. The paper is organized as follows: In section 2 we give some basic definitions and results. In third section we study invariant submanifolds of generalized Kenmotsu manifold satisfying the above mentioned conditions. In the last section we give an example for invariant submanifold of generalized Kenmotsu manifold which verifies our results.

2. PRELIMINARIES

A $(2n + s)$ dimensional manifold \tilde{M} is said to be f -manifold if there exists an $(1, 1)$ type tensor field φ , 1-forms η^1, \dots, η^s , vector fields ξ^1, \dots, ξ^s and Riemannian metric g on \tilde{M} such that [11]

$$\varphi^2 = -I + \sum_{i=1}^s \eta^i \otimes \xi_i, \quad \eta^i(\xi_j) = \phi_{ij}, \quad \varphi \xi_i = 0 \quad (2.1)$$

$$g(\varphi X, \varphi Y) = g(X, Y) - \sum_{i=1}^s \eta^i(X) \eta^i(Y), \quad (2.2)$$

$$\eta^i(X) = g(X, \xi_i), \quad g(X, \varphi Y) = -g(\varphi X, Y), \quad \eta^i \circ \varphi = 0, \quad (2.3)$$

for any $X, Y \in TM, i, j \in \{1, \dots, s\}$.

Definition 2.1: [11] Let \tilde{M} be a s -contact metric manifold of dimension $(2n + s), s \geq 1$, with structure $(\varphi, \xi_i, \eta^i, g)$. \tilde{M} is said to be a generalized almost Kenmotsu manifold if for all $1 \leq i \leq s$, 1-forms η^i are closed and $d\Phi = 2 \sum_{i=1}^s \eta^i \wedge \Phi$. A normal generalized almost Kenmotsu manifold \tilde{M} is called a generalized Kenmotsu manifold.

Moreover, if \tilde{M} is a $(2n + s)$ -dimensional generalized Kenmotsu manifold with structure $(\varphi, \xi_i, \eta^i, g)$, then the following relations hold:

$$(\tilde{\nabla}_X \varphi)Y = \sum_{i=1}^s \left\{ g(\varphi X, Y) \xi_i - \eta^i(Y) \varphi X \right\}, \quad (2.4)$$

$$\tilde{\nabla}_X \xi^j = -\varphi^2 X, \quad (2.5)$$

$$\tilde{R}(X, Y) \xi^i = \sum_{j=1}^s \left\{ \eta^j(Y) \varphi^2 X - \eta^j(X) \varphi^2 Y \right\}, \quad (2.6)$$

$$\tilde{R}(X, \xi_j) \xi_i = \varphi^2 X, \quad (2.7)$$

$$\tilde{R}(\xi_j, X) \xi_i = -\varphi^2 X, \quad (2.8)$$

$$\tilde{R}(\xi_k, \xi_j) \xi_i = 0, \quad (2.9)$$

$$\tilde{S}(X, \xi_i) = -2n \sum_{j=1}^s \eta^j(X), \tag{2.10}$$

$$\tilde{S}(\xi_k, \xi_j) = -2n, \tag{2.11}$$

$$\tilde{S}(\varphi X, \varphi Y) = S(X, Y) + 2n \sum_{i=1}^s \eta^i(X) \eta^i(Y), \tag{2.12}$$

for all $X, Y \in TM, i, j, k \in \{1, 2, \dots, s\}$ [11]. Here $\tilde{\nabla}, \tilde{R}$ and \tilde{S} are the Riemannian connection, curvature tensor and Ricci tensor on \tilde{M} respectively.

Let M be a submanifold immersed in a $(2n + s)$ -dimensional generalized Kenmotsu manifold \tilde{M} with structure $(\varphi, \xi_i, \eta^i, g)$. Let Riemannian metric induced on M is denoted by the same symbol g . The connection induced on tangent bundle TM and normal bundle $T^\perp M$ of M are denoted by ∇ and ∇^\perp respectively. Then for any $X, Y \in TM$ and $V \in T^\perp M$, the Gauss and Weingarten formulas are given by

$$\tilde{\nabla}_X Y = \nabla_X Y + \sigma(X, Y), \tag{2.13}$$

$$\tilde{\nabla}_X V = -A_V X + \nabla_X^\perp V, \tag{2.14}$$

where, σ is the second fundamental form and A_V is the Weingarten map associated with V given by:

$$g(A_V X, Y) = g(\sigma(X, Y), V). \tag{2.15}$$

For any $X \in TM$ and $V \in T^\perp M$, we can write

$$\varphi X = TX + NX, \tag{2.16}$$

$$\varphi V = tV + nV, \tag{2.17}$$

where, TX and NX are the tangential and normal parts of φX respectively. Similarly tV and nV are the tangential and normal part of φV respectively.

In [13], a $(0, k + 2)$ -type tensor field $Q(E, T)$ on a Riemannian manifold \tilde{M} is defined as follows:

$$Q(E, T)(X_1, X_2, \dots, X_k; X, Y) = -T((X \wedge_E Y) X_1, X_2, \dots, X_k) - T(X_1, (X \wedge_E Y) X_2, \dots, X_k) - \dots - T(X_1, X_2, \dots, X_{k-1}, (X \wedge_E Y) X_k), \tag{2.18}$$

where, T is a $(0, k)$ -type tensor field ($k \geq 1$), E is a $(0, 2)$ -type tensor field and $(X \wedge_E Y)Z = E(Y, Z)X - E(X, Z)Y$. Moreover, for any vector fields X and Y tangent to a submanifold M of \tilde{M} and a real valued function f on M , M is said to be pseudo-parallel [2] if

$$\tilde{R}(X, Y) \cdot \sigma = fQ(g, \sigma).$$

Similarly, a submanifold M is said to be 2-pseudo-parallel and Ricci generalized pseudo-parallel if [10] $\tilde{R}(X, Y) \cdot \nabla\sigma = fQ(S, \nabla\sigma)$ and $\tilde{R}(X, Y) \cdot \sigma = fQ(S, \sigma)$ for any $X, Y \in TM$ respectively. From [12], we have the following results.

Theorem 2.1: Let M be an invariant submanifold of a generalized Kenmotsu manifold \tilde{M} . Then the following equalities hold on M .

$$(\nabla_X \varphi)Y = \sum_{i=1}^s \{g(\varphi X, Y)\xi_i - \eta^i(Y)\varphi X\}, \tag{2.19}$$

$$\nabla_X \xi_j = -\varphi^2 X, \tag{2.20}$$

$$\sigma(X, \xi_j) = 0, \tag{2.21}$$

$$\sigma(X, \varphi Y) = \varphi\sigma(X, Y), \tag{2.22}$$

$$R(X, Y) \xi_i = \sum_{j=1}^s \{\eta^j(Y)\varphi^2 X - \eta^j(X)\varphi^2 Y\}, \tag{2.23}$$

$$S(X, \xi_i) = -2n \sum_{j=1}^s \eta^j(X), \tag{2.24}$$

Theorem 2.2: An invariant submanifold M of a generalized Kenmotsu manifold \tilde{M} in which ξ_i are tangent to M for all $i \in 1, 2, \dots, s$ is also a generalized Kenmotsu manifold.

3. INVARIANT SUBMANIFOLDS OF GENERALIZED KENMOTSU MANIFOLD SATISFYING $Q(\sigma, R) = 0$ AND $Q(S, \sigma) = 0$

Theorem 3.3: An invariant submanifold of a generalized Kenmotsu manifold is totally geodesic if and only it satisfies $Q(\sigma, R) = 0$.

Proof: Let us consider an invariant submanifold of generalized Kenmotsu manifold satisfying $Q(\sigma, R) = 0$. Then,

$$0 = Q(\sigma, R)(X, Y, Z; U, V),$$

for any vector fields $X, Y, Z, U, V \in TM$. From (2.18) and the definition of $(X \wedge_E Y)Z$, we get

$$0 = -\sigma(V, X)R(U, Y)Z + \sigma(U, X)R(V, Y)Z - \sigma(V, Y)R(X, U)Z + \sigma(U, Y)R(X, V)Z - \sigma(V, Z)R(X, V)U + \sigma(U, Z)R(X, Y)V. \tag{3.1}$$

By taking $Z = \xi_i$ and $V = \xi_i$ in (3.1), we get

$$\sigma(U, X)Y - \sigma(U, X) \sum_{i=1}^s \eta^i(Y)\xi_i - \sigma(U, Y)X + \sigma(U, Y) \sum_{i=1}^s \eta^i(X)\xi_i = 0. \tag{3.2}$$

Taking inner product of (3.2) with W and contracting Y and W by putting $Y = W = e_j$, we get

$$(2n + s - 1)\sigma(U, X) = 0.$$

Thus M is totally geodesic. Converse part is directly follows from (3.1).

Theorem 3.4: An invariant submanifold of a generalized Kenmotsu manifold is totally geodesic if and only it satisfies $Q(S, \sigma) = 0$.

Proof: Let us consider an invariant submanifold of generalized Kenmotsu manifold satisfying $Q(S, \sigma) = 0$. Then,

$$0 = Q(S, \sigma)(X, Y; U, V),$$

for any vector fields $X, Y, U, V \in TM$. From (2.19) and the definition of $(X \wedge_E Y)Z$, we get

$$\begin{aligned} 0 = & -S(V, X)\sigma(U, Y) + S(U, X)\sigma(V, Y) - S(V, Y)\sigma(X, U) \\ & + S(U, Y)\sigma(X, V). \end{aligned} \tag{3.3}$$

Taking $U = Y = \xi_i$ in the above equation, we arrive at

$$-2n\sigma(X, V) = 0.$$

Thus M is totally geodesic. Converse part directly follows from (3.3).

Corollary 3.1: In an invariant submanifold of generalized Kenmotsu manifold $Q(\sigma, R) = 0$ if and only if $Q(S, \sigma) = 0$.

4. INVARIANT SUBMANIFOLDS OF GENERALIZED KENMOTSU MANIFOLD SATISFYING $Q(S, \tilde{\nabla}\sigma) = 0$ AND $Q(S, \tilde{R} \cdot \sigma) = 0$.

Theorem 4.5: An invariant submanifold of generalized Kenmotsu manifold is totally geodesic if and only if $Q(S, \tilde{\nabla}\sigma) = 0$.

Proof: Let us consider an invariant submanifold of generalized Kenmotsu manifold Satisfying $Q(S, \tilde{\nabla}\sigma) = 0$. Then,

$$0 = Q(S, \tilde{\nabla}_X \sigma)(Y, W; U, V),$$

for any vector fields $X, Y, W, U, V \in TM$. From (2.18) and the definition of $(X \wedge_E Y)Z$, we get

$$\begin{aligned} 0 = & -(\tilde{\nabla}_X \sigma)(S(V, Y)U, W) + (\tilde{\nabla}_X \sigma)(S(U, Y)V, W) - (\tilde{\nabla}_X \sigma)(Y, S(V, W)U) \\ & + (\tilde{\nabla}_X \sigma)(Y, S(U, W)V). \end{aligned}$$

Continuing with simple calculations, we get

$$\begin{aligned}
0 = & -\nabla_X^\perp \sigma(S(V, Y)U, W) + \sigma(\nabla_X S(V, Y)U, W) + \sigma(S(V, Y)U, \nabla_X W) \\
& + \nabla_X^\perp \sigma(S(U, Y)V, W) - \sigma(\nabla_X S(U, Y)V, W) - \sigma(S(U, Y)V, \nabla_X W) \\
& - \nabla_X^\perp \sigma(S(V, W)U, Y) + \sigma(\nabla_X S(V, W)U, Y) + \sigma(S(V, W)U, \nabla_X Y) \\
& - \nabla_X^\perp \sigma(S(U, W)V, Y) - \sigma(\nabla_X S(U, W)V, Y) - \sigma(S(U, W)V, \nabla_X Y). \quad (4.1)
\end{aligned}$$

Now by taking $Y = W = V = \xi_j$ in (4.1) and then using (2.20), we arrive at

$$-2n\sigma(U, -\varphi^2 X) = 0.$$

In view of (2.1), we get

$$2n\sigma(U, X) = 0.$$

Thus M is totally geodesic. Converse part follows directly from (4.1).

Theorem 4.6: An invariant submanifold of generalized Kenmotsu manifold is totally geodesic if and only if $Q(S, \tilde{R} \cdot \sigma) = 0$.

Proof: Let us consider an invariant submanifold of generalized Kenmotsu manifold satisfying $Q(S, \tilde{R} \cdot \sigma) = 0$. Then,

$$0 = Q(S, \tilde{R}(X, Y) \cdot \sigma)(Z, W; U, V),$$

for any vector fields $X, Y, Z, W, U, V \in TM$. From (2.18) and the definition of $(X \wedge_E Y)Z$, we get

$$\begin{aligned}
0 = & -(\tilde{R}(X, Y) \cdot \sigma)(S(V, Z)U, W) + (\tilde{R}(X, Y) \cdot \sigma)(S(U, Z)V, W) \\
& -(\tilde{R}(X, Y) \cdot \sigma)(Z, S(V, W)U) + (\tilde{R}(X, Y) \cdot \sigma)(Z, S(U, W)V).
\end{aligned}$$

Using the definition of \tilde{R} , we get

$$\begin{aligned}
0 = & -S(V, Z)[R^\perp(X, Y)\sigma(U, W) + \sigma(R(X, Y)U, W) - \sigma(U, R(X, Y)W)] \\
& + S(U, Z)[R^\perp(X, Y)\sigma(V, W) - \sigma(R(X, Y)V, W) - \sigma(V, R(X, Y)W)] \\
& - S(V, W)[R^\perp(X, Y)\sigma(Z, U) - \sigma(R(X, Y)Z, U) + \sigma(Z, R(X, Y)U)] \\
& + S(U, W)[R^\perp(X, Y)\sigma(Z, V) - \sigma(R(X, Y)Z, V) - \sigma(Z, R(X, Y)V)]. \quad (4.2)
\end{aligned}$$

Now by taking $Y = Z = V = \xi_j$ in (4.2) we arrive at

$$-2n\sigma(R(X, \xi_j) \xi_j, U) = 0.$$

In view of (2.23) and (2.1), we get

$$2n\sigma(U, X) = 0.$$

Thus M is totally geodesic. Converse part follows directly from (4.2).

5. EXAMPLE

In this section we construct an example for invariant submanifold of a generalized Kenmotsu manifold and verify our results. Let take $n = 2$ and $s = 3$ and consider

$\tilde{M} = \{(x_1, x_2, y_1, y_2, z_1, z_2, z_3) \in \mathbb{R}^7 : z_i \neq 0 \text{ for } i = 1, 2, 3\}$, a seven dimensional manifold, where $(x_1, x_2, y_1, y_2, z_1, z_2, z_3)$ are standard coordinates in \mathbb{R}^7 . Choose the vector fields as [11].

$$E_1 = f \left[\frac{\partial}{\partial x_1} + \frac{\partial}{\partial y_1} \right], E_2 = f \left[-\frac{\partial}{\partial x_1} + \frac{\partial}{\partial y_1} \right],$$

$$E_3 = f \left[\frac{\partial}{\partial x_2} + \frac{\partial}{\partial y_2} \right], E_4 = f \left[-\frac{\partial}{\partial x_2} + \frac{\partial}{\partial y_2} \right],$$

$$E_5 = \frac{\partial}{\partial z_1}, E_6 = \frac{\partial}{\partial z_2}, E_7 = \frac{\partial}{\partial z_3},$$

where, f is defined as $f = e^{-(z_1 + z_2 + z_3)}$ are linearly independent at each point of \tilde{M} .

Let g be the Riemannian metric defined by

$$\frac{1}{f^2} \left[\sum_{i=1}^2 dx_i \otimes dx_i + dy_i \otimes dy_i \right] + \sum_{j=1}^3 dz_j \otimes dz_j.$$

Then we have

$$g(E_i, E_j) = \begin{cases} 1, & i = j \\ 0, & i \neq j, \end{cases}$$

for all $i, j \in \{1, \dots, 7\}$. Let for any vector field X , 1-forms are defined by $\eta^1(X) = g(X, E_5)$, $\eta^2(X) = g(X, E_6)$ and $\eta^3(X) = g(X, E_7)$. Then $\{\eta^1, \dots, \eta^3\}$ is an orthonormal basis of \tilde{M} .

Now define (1,1) tensor field by

$$\begin{aligned} \varphi(E_1) &= E_2; \varphi(E_2) = -E_1; \varphi(E_3) = E_4; \varphi(E_4) = -E_3; \\ \varphi(E_5 = \xi_1) &= 0; \varphi(E_6 = \xi_2) = 0; \varphi(E_7 = \xi_3) = 0. \end{aligned}$$

The linearity property of g and φ yields (2.1) and (2.2) for any vector fields on \tilde{M} . Hence $\tilde{M}(\varphi, \xi_i, \eta^i, g)$ defines almost s -contact metric manifold.

The Riemannian connection $\tilde{\nabla}$ of the metric g is given by the Koszul's formula

$$\begin{aligned} 2g(\tilde{\nabla}_X Y, Z) &= Xg(Y, Z) + Yg(Z, X) - Zg(X, Y) - g(X, [Y, Z]) \\ &\quad - g(Y, [X, Z]) + g(Z, [X, Y]). \end{aligned}$$

Using Koszul's formula we get:

$$\tilde{\nabla}_{E_i} E_j = \begin{cases} -(\xi_1 + \xi_2 + \xi_3), & i = j \\ 0, & i \neq j \text{ for } i, j = 1, \dots, 4, \end{cases} \tag{5.1}$$

$$\tilde{\nabla}_{E_i} \xi_j = E_i, \text{ and } \tilde{\nabla}_{\xi_j} \xi_j = 0 \text{ for } i = 1, \dots, 4 \text{ and } j = 1, 2, 3.$$

Let $f: M \rightarrow \tilde{M}$ be an isometric immersion defined by $(x, y, v_1, v_2, v_3) = (x, y, v_1, 0, 0, v_2, v_3)$.

It can be easily proved that $M = \{(x, y, v_1, v_2, v_3) \in \mathbb{R}^5: (x, y, v_1, v_2, v_3) \neq 0\}$, where (x, y, v_1, v_2, v_3) are standard coordinates in \mathbb{R}^5 is a 5-dimensional submanifold of \tilde{M} . Choose the vector fields as:

$$E_1 = f \left[\frac{\partial}{\partial x_1} + \frac{\partial}{\partial y_1} \right], E_2 = f \left[-\frac{\partial}{\partial x_1} + \frac{\partial}{\partial y_1} \right],$$

$$E_5 = \frac{\partial}{\partial z_1}, E_6 = \frac{\partial}{\partial z_2}, E_7 = \frac{\partial}{\partial z_3},$$

where, f is defined as $f = e^{-(z_1 + z_2 + z_3)}$ are linearly independent at each point of M . Let the Riemannian metric be defined as same as in the manifold \tilde{M} . Now, for any vector field X , 1-forms are defined by $\eta^1(X) = g(X, E_5)$, $\eta^2(X) = g(X, E_6)$ and $\eta^3(X) = g(X, E_7)$. Then $\{E_1, E_2, E_5, E_6, E_7\}$ is an orthonormal basis of M . Now define (1,1) tensor field by:

$$\varphi(E_1) = E_2; \varphi(E_2) = -E_1; \varphi(E_5 = \xi_1) = 0; \varphi(E_6 = \xi_2) = 0; \varphi(E_7 = \xi_3) = 0.$$

Using Koszul’s formula, we can easily calculate

$$\nabla_{E_1} E_1 = \nabla_{E_2} E_2 = -(\xi_1 + \xi_2 + \xi_3), \tag{5.2}$$

$$\nabla_{E_i} E_j = E_i, \text{ for } i = 1, 2 \text{ and } j = 5, 6, 7.$$

and the remaining $\nabla_{E_i} E_j = 0$, for $1 \leq i, j \leq 7$ and $i, j \neq 3, 4$.

It can be easily verified that M is an invariant submanifold of \tilde{M} . Now from (5.1) and (5.2), we see that $\sigma(E_i, E_j) = 0$, for all $i, j = 1, 2, 5, 6, 7$. Thus M is totally geodesic. Hence theorems 3.3, 3.4, 4.5 and 4.6 are verified.

Acknowledgement

Example is constructed and verified using Maple.

References

[1] K. Arslan, U. Lumiste, C. Murathan and C. Özgür, 2-semiparallel surfaces in space forms, I: two particular cases, *Proceedings of the Estonian Academy of Sciences. Physics. Mathematics* 49.3(2000): 139-148.

-
- [2] A.C. Asperti, G.A. Lobos and F. Mercuri, Pseudo-parallel immersions in space forms, *Mathematica Contemporanea*. 17 (1999): 59-70.
- [3] B.Y. Chen, *Geometry of slant submanifolds*, Katholieke Universiteit Leuven, 1990.
- [4] U.C. De and P. Majhi, On invariant submanifolds of Kenmotsu manifolds, *Journal of Geometry*, 106.1(2014): 109-122.
- [5] U.C. De and S. Samui, On some classes of invariant submanifolds of Lorentzian para-Sasakian manifolds, *Tamkang Journal of Mathematics* 47. 2(2016): 207-220.
- [6] J. Deprez, Semi-parallel surfaces in Euclidean space, *Journal of Geometry* 25.2(1985): 192-200.
- [7] C. Hu and Y. Wang, A note on invariant submanifolds of trans-Sasakian manifolds, *International Electronic Journal of Geometry* 9.2(2016): 27-35.
- [8] K. Kenmotsu, A class of contact Riemannian manifolds, *Tohoku Mathematical Journal* 24.1 (1972): 93-103.
- [9] D. Kowalczyk, On some subclass of semisymmetric manifolds, *Soochow Journal of Mathematics* 27 (2001): 445-461.
- [10] C. Murathan, K. Arslan and E. Ezentas, Ricci generalized pseudo-symmetric immersions, *Differential Geometry and its Applications*, Matfyzpress, Prague 2005, 99-108.
- [11] A. Turgut Vanli and R. Sari, Generalized Kenmotsu manifolds, arXiv:1406.1032v1.
- [12] A. Turgut Vanli and R. Sari, On invariant submanifolds of generalized Kenmotsu manifolds, arXiv:1410.4662v1.
- [13] L. Verstraelle, Comments on pseudosymmetry in the sense of Ryszard Deszcz, *Geometry and Topology of submanifolds*, 6 (1994), no. 1, 199-209.
- [14] K. Yano and S. Ishihara, Invariant submanifolds of almost contact manifolds, *Kodai Mathematical Seminar Reports* 21.3 (1969): 350-364.
- [15] K. Yano and S. Ishihara, On a problem of Nomizu-Smyth on a normal contact Riemannian manifold, *Journal of Differential Geometry* 3 (1969): 45-58.

